


Introduction
Effect of an ↑ G

• Neoclassical Models

↑ output     ↑ hours   ↓consumption     ↓ real wages     ↓ or ↑
investment

• Traditional Keynesian models

↑ output    ↑ hours     ↑ consumption     ↑ real wages ↓ investment

• New Keynesian Models with a Representative Agent (“RANK”), standard 
monetary policy

↑ output     ↑ hours   ↓consumption     ↓ real wages     ↓ or ↑ investment



• Question Asked by this Paper

What does a model need to produce a rise in consumption in response to a 
rise in government spending?

• Answers

- Sticky prices alone are not enough, rule-of-thumb consumers alone are 
not enough.

- Necessary features are:

1. Rule-of-thumb consumers (Campbell-Mankiw (1989) NBER MA).
2. Variations in the labor market wedge (Gali, Gertler, Lopez-Salido

(2007), ReStat)



What is the Labor Market Wedge?

In general competitive equilibrium, it should be the case that:

Marginal Product of Labor (MPN) = Marginal Rate of Substitution (MRS)

In logs, the labor wedge is the μt such that:

mpnt = μt + mrst

Using a representative agent utility function, log in consumption, in logs:

mrst = ct +  ϕnt (up to a constant), where ϕ>0 is the curvature of the disutility of labor.

Using Cobb-Douglas production function,  mpnt = yt – nt (up to a constant).  So:

μt = yt – nt - ct - ϕnt

Can also decompose the labor wedge into the price markup and the wage markup:

μt = mpnt - mrst = mpnt – wt + (wt - mrst ) = log price markup + log wage markup



The Labor Market Wedge

mpnt = μt + ct +  ϕnt

Now, we know that ↑ G → ↑ n → ↓mpn

Thus, left hand side of equation falls.  

But the ↑ n causes the right hand side to rise.  If μt is constant, then c must ↓.

The only way to get both ↑ n and ↑ c is for ↓ μ.

Note:  If ↑ G → ↑ n → ↑ mpn because of increasing returns, then you could 
get ↑ n and ↑ c without a ↓ μ. (Devereux, Head, Lapham JMCB (1996)).



Empirical Motivation

They use the Blanchard-Perotti identification to 
estimate the effects of government spending 
shocks.

Issues with their empirical work.

1. Incorrect way of computing multipliers.
2. Claim significance based on standard deviation 

confidence intervals.
3. Disposable income doesn’t line up with consumption.










































